Sr Questions Answers Choice

1 O S5 ) e S8

2 G a0 Lol S L S g pde JaSU)

i
i

3 = Ui Al (e S S

I
2

al

1AL S

2
t

N o
[ =]
o O
o o

4 = s s (S S N s S ol (g S WS Al - 2000

1500

5 a)(Rum) = S i (S oSl (e-

6 Uu(Beer) = ¢in S e (S Jasdl e

7 G sl a) e K e 138 0))) sia

8 =S g pdia Y g Jleaid oald s caus pe (LSl

%1%} &

b
G
12

1

9 3 (Brandy) = s e (S JaSU (-

Lk
R

10 SRS Sr e S5

DOWP» UOWP UOWr DO®mP U0Wr DO®mP 00mr 00UP» 00mE U0
b

11 mua)wtjm)'@d)ic‘.\;ﬁascu)\ﬁn@)h@gtﬁs

12 = s Csma S oS s S e S S sy e

13 S5 ) Seyd

14 U s el (S Sl pde

15 op S e S e

ocow» UOW > UOWP» UOWP UOWX



16

17

= s ae S8

S5 (Whisky) = i 58 e (S Jasdl (se-

Cow» CDOw



